= 5

X () [ZREFR

A FEER iR 2> BRI b R B 5 (T ER)

B: &IRMEYYH—HTHR)

&

F100RI2ESRYYA—EFEXRE AIIRKE

f—F A bER

37F—LSm

N

_.,Ihm
N O

oo
0-0
0-0
EE
0-0
1640 olfl14 4o 1 ofl1 0-0
5-0 0-3 3-0 0-0 0-0 )
11-0 0-11 1-0 1-2 0-1
1200 o6 4o
5-0 0-12 2-0 3-0
7-0 0-14 2-0 1-0 x
M4 o7 B
= 0-3 i
1-1 —.
i 0-4
0-1
0-1
1 2 4 5 6 7 8 11 14 15 16 19 20 21 22 23 24
g SR X R 7 = plic3 i F =2 & e B £ £ A £ O* &
1%
. r [i] N . . N
N R R R i R = iR
L £ [it] R B
2 &% BA # . =2 1 . 7N
Eﬂ it .
(53 " F k fE B B B fm 2 H = I @\ B B 12!
GROUP A GROUP B GROUP C GROUP D GROUP E GROUP F

w

N ol
- N

w

T 0w W
R £ 5

NN

Of17

0-11
0-6

B

N L

' €t b
iR /N
- I
K OB =

37
i

ik

GROUP G

GROUP H




	Sheet1

